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/ 11
(Structural question)

1.
A student tries to measure the density of steel by measuring the diameter and the mass of a steel ball bearing. The diameter and the mass of the steel ball bearing is found to be 8.02
[image: image1.wmf]±

0.01 mm and 2.02
[image: image2.wmf]±

0.01g respectively.


(a)
Find the percentage errors in measuring the diameter and the mass.


(2 marks)


(b)
Find the percentage error for the measurement of the density of the steel bearing.



















(2 marks)


(c)
Find the measured density of the steel bearing and the error for the measurement of it.


















(6 marks)


(d)
Write an expression for the measured value of the density of the steel ball bearing.(1mark)

HKAL Physics : Part 1 Mechanics



Name : 



Class : 

(
)

Chapter 1 Kinetmatics Quiz 1 (KEY)


Time : 15 minutes


Marks : 

/ 11
1.
(a)
% error for the diameter
= 
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% error for the mass
= 
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(b)
% error for ρ
= % error for the mass + 3 % error for the diameter



1






= 0.395% + 3(0.125%) = 0.870%
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(c)
ρ
= 
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mass
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= 
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= 7 480 kg m-3
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error for ρ
= % error for ρ 
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 the measured value for ρ
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= 0.870% 
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 7 480
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= 65.1 kg m-3
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(d)
ρ = 7 480
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65.1 kg m-3
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